3 (Sem-1/CBCS) ECO HC 1

2022
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Paper : ECO-HC-1016
( Introductory Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following quéstions (any ten) :
4 : 1x10=10
oo eEpTEd e it (R it w=hl)
{a) What is the problem of ‘choice’?
s’y TP 7
(b) Distinguish between a firm and an
industry.
<5t RSP oF <G SopiT Fere A e
9|

(c) Mention one feature of capitalism.

et <t QR SrEe 79 |

(d) State one feature of economic goods.

weftefod AN 9Bl CARE SrEy 4|
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(e)

0

(9)

(h)

(i)

G

(k)

@

(m)

i)

(0)
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(2 )

What is cross demand?

fedfe vifet &9

Write the demand function.

oifem Tl forst |

What are complementary goods?
IR AT 52

Draw the demand curve of Giffen goods,

e AR SiftviE w9 |

What is the shape of perfectly inelastic
supply curve?

ey SRR @l s &9
What is producers’ surplus?
SeATPTES Brg 57

Define opportunity sets.

Tl Fz=foq A il |

What is income consumption curve?

R EATels @4 (59

Mention the concept of market demand.

TGN DR IReTE St < |

Distinguish between stock and supply.
TGS Hi$ @ATT TS A iy v |

Define imperfect competition.

<oyt Afowifrels Ake |

( Continued )

( 3 )

(p) What is derived demand?
Tge biw &2

(q) State one character of labour market.

Aq IE9T <5 @EE S 9

() What is meant by property rights?
Feifigs w32 ¢ =2

2. Answer the following questions in short

2x5=10
(any five) :

W.ngwm(ﬁ@m%ﬁ):

(a) Distinguish between positive economics
and normative economics.

Sfeape e wie Ardafe RISt e
oy frfa <ot

(b) What is economic problem?
wftfes TP 67

(c) Write any two features of basic
competitive model.

(R afcwfenee @igs & @ L)
e et
(d) Why is the cross elasticity of demand

for substitute goods always positive?and
negative for complementary goods®

aig|
sifer fodes Pefeereet e i st AN
e (e Sie e AN (Fao
YT 2?7
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(e)

(9)

(h)

(i)

0)
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iy

If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of €60
per litre?

3% s oI w9 Rfegemeet g7 T 27
S® 3 dfe fiE AT 79 40 Tl @ErS
<6l AR 40 5N N9 oiRwl =, (o
A Rl N W 60 TRl TT NN
i == e 299

Why do two indifference curves not
intersect each other?

7o FRCTE @A {5 A o S0
Why is the supply curve of labour
upward sloping?

BT QI IR fon SRR =

Distinguish between fixed and variable
costs.

3 F ARESR e R Al Fid w9

Mention two government policies to
enhance competition in the market.

TGS it 3w R <1 75l sei@ s
S@d 4 |

Why do input demand curves shift to
the left?

MRS SifEm @4l R ST = =9

{ Continued )

( 5)

3. Answer the following questions (any four) :

5x4=20

O NS T it (R e s

(@)

(b)

(c)

(@)

(e)
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What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
T eTeRRe [67 74 TTeha] @ EWE ISR
SIS Aele B9 @, g |

How does the profit motive drive the
market system? Discuss. 5

aed SR (T 9IS RIS S IGHC
PE? DA 39

Explain the characteristics of a mixed
economy. 5

fry w4fifes wRiEpmR R w9

What is price mechanism? How does
price mechanism allocate resources?
14d=-5

W odleE 52 w9 oA @emE aeenE
o9 T2

What is budget line? How do changes

in income and prices affect the budget
line? Use diagrams. 1+2+2=5
AT @ 7P S Wi w1 AR @
e @ Aeifss $E? fw Fae ol

{ Turn Over )



4.
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() Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5

memmaa?cmw@@wsﬁmﬂw
FEoZF SIUre et 0T | 7

fg) Establish the relationship between
average cost and- marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
TG I SIF AIST T99 ore T-4E FoH 34 |
AfEF W @R 9T I @ [ e o
&1 FE?

(h) Explain the various factors determining
the demand for labour. 5

W9 oIt fdiae w9t R[fen svomz R
|

Answer the following questions (any four) :
10x4=40

Wﬁfrﬁmwm(ﬁ@mﬁﬁm):

(@) What are the fundamental economic
problems of an economy? How can
various economic problems be explained
through the use of production possibility
curve? 4+6=10

93 igeifon (e Syftafes TPz &5 59
fofen wftafos ppEes Seeim gl
@19 AZTS M J PR A9 2

( Continued )

(b) How is efficiency of market linked with
producers’ and consumers’ surplus?
Explain.

AT THE B (SIFIH T7e9 TS T
o {6 Tvw WiR? W F9 |

(c) Explain the various factors determining
individual and market demand.

Jfesre siftw wiF @R oiftwe e
A 4

(d) What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=

sfors Retie 592 fam o %5 mfoy =i
i | TR B o B e I i B

fe) Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach.

e @4 ResEem T2e eer T aww
ARG 5 541 |

(i Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-

run average cost curve. 8+2=

TP T IR @AR IS AL o
I @4 oz 91 A S 9w @@l
U-Si$hoq e iRepz il |
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( 8 )

(g) Explain the behaviour of a profit maxi-
mizing firm in the short-run. 10

WW&WWW@W
HoFe [ 9

(h) Discuss the rationale behind the

: regulation of monopoly practices., What
role do antitrust policies play in
monopoly regulation? 7+3=10
G YA g FR egES! SAEn
91 aeoby JEI FRgee  Hv-Rad
TR & Sl a®?

(i) Describe the various applications of
elasticity of demand in economics. 10

wdiifes wiftne RfeRriceor (e ame
4t 41|

(i) Explain how wages are determined in a
competitive labour market. 10

frifs =, g i

* Kk &
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